= o
N & o & AF & H A A
20158 & =0la LBt &3
SN B
M HOI=22e
Cel: MEHIsHel (&)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
s#Zu 13,876,813 15,455,102 A 1,578,289
= 2,163,840
X 750,000
J| 147,000
< 625,872
Al 10,190,101
HOI= 22l 4,773,308 4,090,439 682,869
= 602,300
< 17,225
Al 4,153,783
MEHIIZ2X 3,730,796 3,471,927 258,869
= 98,300
< 17,225
Al 3,615,271
MY JISENHESY 272,000 279,857 AT,857
101 14 dl 14,135 14,135 0
04 JIZHHZ2Z2XNESE S 14,135 14,135 0
OMYDIIESE BHIHRA 14,135,000 1 14,135
201 L2l 177,195 183,052 N5,857
01 At 2t 2l 26,791 32,648 A5,857
O E==EH| 16,463
o HAXA MgJ| 20171 285 F&
2,013,000 2,013
o WEEAI XY S AL
35,000& 100 23! 700
o MY JISYHEI CHLHE W Z
200,000 204 4,000
o BHEEEE MK L otUHE ME
1,000,000 1,000
o MEJIZEEI HEEE S+ M
60,000 *300HK 1,800
o MEJISEEI ©& ABAH MH
1,000& *1,0000H 1,000
oJtd, A2MyDd| B2eliE 222 MAE
2,050,000 2,050
o MYIIRHESE X SASFHI= ERE
Z EOHa EXE M 10,000& #5004 &~ 500
0o SASF HII=S ZHAN &8 3,400
-y 60,0002 200K 1,200
ot & 2003 «2&*2,500% 1,000
-8 3,000& x1& *200& 600
- AEIA 100& x3&+2,000& 600
O= &l 9,328
o =EEE=2S = 100,000& 102 1,000
o MEJISEHM HRFA 200,000 x53| 1,000




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

SA - FE - BI(EA) - NRAY - By 0l &t San DS
o FAXA MYIIE017] 25 F&
20,000& 10 200
o HHIEANAZE HRFAH 100,000& » 102 1,000
o BHADNISE AMIILA(H, =4)
2,000, 000& 22 4,000
o SAEF HIS+H FRFA
7,000 «8H »282] 1,568
0 SAZE HIIZ OAEE ALEX
7,000& 4% 20| 560
oI = 1,000
0 SABFE HIIB 4T Y42 7Y
50,000 «10H »23] 1,000
02 =224l 149,704 149,704 0
O332SBLAA 11,600,000 11,600
OA & ZEHl s Xl 2,160,000 2,160
Oxg &edl 135,944,000& 135,944
03 &ALl 700 700 0
OSAESF HIIS AN AIMEHS
700,000& 700
202 044l 4,750 4,750 0
01 SLHOIYI 4,750 4,750 0
OMYIIZSEN 2= 4,750,000 4,750
206 M= Hl 75,920 77,920 A 2,000
01 M= 4l 75,920 77,920 A 2,000
OSAER HIIZS EJZSENM 75,920
0 +HEE TY(RLRIY, YO S)
2,000,000& 2,000
o HREZESHE(HIS) 10,700
- 528 403 %120, 0004 4,800
- 202l & 403 65,0004 2,600
- 602l & 403 20,0004 800
- 12021 & 50& 50, 000K 2,500
o SASMYI HESEMH(HUE) 4,820
- 202l & 63& 20, 000 0K 1,260
- 502 & 138& +20,0000H 2,760
-AIRER a0 8& %100, 000 0K 800
o dE=HEJ A=H +& 300,000& 12 3,600
o dE8=HEJ €A 400,000& x12& 4,800
o SASR HJIe =18 7 (1202
B) 100, 000& *3007H 30,000
0 BAMER HJIS ME+HEI #L(5alH)
5,000& *4,000H 20,000
XEE SSH FE(EX) 10,000 10,000 0
= 2,000




2AM: 2F

M HOI=22e
Helr MEHIISX (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 8,000
201 et 10,000 10,000 0
< 2,000
Al 8,000
01 At 22l 8l 10,000 10,000 0
OB ==EH| 10,000
o MEJISEM MAXAD Mgdl=H =2
10,000, 000& 10,000
= 2,000
Al 8,000
MEMY I =AMl AL 586,083 661,945 AT5,862
101 14 bl 24,085 0 24,085
04 D12t 22 HEE =+ 24,085 0 24,085
025 4SNI2T(HFH ZAWYE 2N
) 24,085
oJlE=a 1,016,000& x1H x12& 12,192
o403 1,016,000 1 «400% 4,064
o BE FOtHI 1,016,000& *1H x120% 1,220
o UG Al 130,000 x1H 123 1,560
o gAY
5,4803 1H = 10Al 2t * 128 *1.5 987
o X4 5,4803 *BAl 2tx1H 1.5 66
o =83 20,681,000& x4 .5% 931
o UEEH 20,681,000& *1.4% 290
o MHEH 20,681,000& & *1% 207
o HLEH 20,681,000& »2.9% 600
o BIIRUYBE 600,000& x3.28 1,968
201 LB-2E| 353,744 342,641 11,103
01 At 2t 2l 65,764 54,661 11,103
O E==EH| 34,604
o BAWH HRFA 2,000,000 2,000
0O HATIEY ANE L AALLE
35,0003 «16CH*23] 1,120
o mEHEZ2S S 84 82 4%
60,0003 x2&+53] 600
o REESEE 12,000 128 144
o A& BHIts Med| 22liiE FUEE
1,000& 50004 500
o &Z0Istd S=H| 40,0003 «63H «12& 30,240
O= &l 3,100
A HREFA 1,000, 000& 1,000
o HXHIIE +=HMel 2FH
7,000& 20«10 1,400




SN B
M HOls&e
ool MEHIISH2 CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
o MYIJISEED| OF2cts Z2FX
7,000& *10¥ 10 700
[ DRVl 27,160
o 2HED s 2¢ 50,0003 *7H x23] 700
o EZ0lgtE &Y= 50,000 *63H *23| 6,300
o B0 d &G 60,000& 63 23| 7,560
o EAH0ISE 0F2EXT) 40,000 63l x23] 5,040
o B0 R9 70,000& *63H 4,410
o EA0ISE ZSX 50,000 *63H 3,150
[ DRNE=] 900
o ¥XIHIIZ +=HEH Xz
300,000& *x1CH *33] 900
02 352494l 282,780 282,780 0
OZ2Z222L A 36,000,000 36,000
OAE & H S XY 10,780,000& 10,780
O™ =4l 6,000,000 6,000
[ DPNE=FaR=las] 230,000, 000& 230,000
03 &AL E H| 5,200 5,200 0
ONRe HetoI=20t=)| &5 400,000 *x33] 1,200
OZ0I33 SEHHHS 2,000,000& x13] 2,000
OH0I MU 2,000,000& x13] 2,000
202 04 d| 4,750 4,750 0
01 2L Y| 4,750 4,750 0
OMEMYIIXNE ERF=X 4,750,000& 4,750
206 M = Hl 151,104 158,654 A7,550
01 X2 Hl 151,104 158,654 AT,550
OMYIIRZEESE HH(HES+2423) 105,910
o 5elH 262 *15,0000H 390
o 102I & 38& *70,0000H 2,660
o0 202l & 63& %400, 0000H 25,200
o0 20l (MHAtEEE) 70& *150, 0000H 10,500
o 502| & 138& 420, 0000H 57,960
o XY MaO0lH HE 8& 1,150, 0000H 9,200
O SMY D0 ME(EHE) 12,700
o0 202l & 350! =10, 0000H 3,500
o 502! Ef 460& *20,0000H 9,200
OMYIIRAHEE M (B2E) 19,710
o0 202l & 63& *50,0000H 3,150
o 502| & 138& %70, 0000H 9,660
o O & &502l & 460& *15,0000H 6,900
O30 & 2 AN 82 12,784
o EctAE Y 6,000 *63H *2H 756

_4_




2N
X ZH -
L= B

el

CEH B (BH) - NBAY - B2 o AF o San H D2
o &g 6003 63 x5& &f| x12& 2,268
o REEYUXHE Bl (EE)
180,000& *12& 2,160
o REEYUXHE B (5E)
250,000& +12& 3,000
o Hs2Y =H0IM H& 4603 *10, 0000H 4,600
301 dEtEAZ 2,400 900 1,500
11 IIEtE &2 2,400 900 1,500
OEEED| MIOX ZAZ 10,000& *30H 300
OMY I A2 ADEAZ 30,000& x20AH 600
OMYIIE0I R ST LAa=
300, 000& *5JH &~ 1,500
o12tol & 20,000 20,000 0
05 A2t E = 20,000 20,000 0
OHEONHE ZIMY Il R et 201 HD|
= XHel 10,000,000& 10,000
Os0H=E, &2 XM Hel 10,000,000 10,000
405 XH&HF SHI 30,000 135,000 A 105,000
01 &L 2EFHSHI 30,000 135,000 A 105,000
OHg&ds =AH& 5,000,000 5,000
oMY 2el+=HE 2 20,000,000& 20,000
OMYII+=HE LELI0 #¢
5,000, 000& = 1CH 5,000
= MY 320,751 165,936 154,815
101 @124 70,761 69,000 1,761
04 JI2ZtH2Z2XNHEE 70,761 69,000 1,761
025 NEXNI2Z2 X (HESHEE 22H) 48,032
o JlE=2 1,036,000 x2H x12& 24,864
o &3 1,036,000& *2H *400% 8,288
o & =0yl 1,036,000& *2H *120% 2,487
o 3¥UZ A 130, 000& 2 x12& 3,120
o v¥IzxY
5,570& x2H x18Al 2tx 128 *1.5 3,610
o X% 5,570 *8Al 2t*x2H x 15 1,337
o =93 43,706,000& *4 . 5% 1,967
olEEE 43,706,000& *1.4% 612
o AMHEE 43,706,000& *1% 438
o AZEE 43,706,000 *2.9% 1,268
o AJIRYEH 1,221,000& *3.28% 41
025 NEXNI2Z A (HESHEE 22H) 22,729
o JlE2 1,016,000 x1H x12& 12,192
o &3 1,016,000 * 1 *400% 4,064
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SN 2B
Mz @Ol
Ce: MEHI2Xel (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o DEEZ 500,000& 500
o MEgs4dgete RESE) EHsE 1Y
2,000,000& 2,000
OAgZ AgD 2 (AE3.321H)
50,000& *30CH 1,500
OHEESHEE 229 2l ¢
650, 000& *x6CH 3,900
301 et A= 500 500 0
11 JIEtE &2 500 500 0
OIS EEANE RAALD ZTAZ 250002 202 500
401 AlEHI 2L 2 0HY| 10,000 14,000 A4 ,000
01 Al&H| 9,892 13,892 A 4,000
ONMESBSHEE PEB HAE2 & Y E4Z2A
10,000, 000 %x98.92% 9,892
03 AlE 201 Y| 108 108 0
OESSHEE PEB HFZ2 & & B3 A
10,000,000 *1.08% 108
405 XHA&HF S HI 169,370 7,570 161,800
01 AL 2 S F S| 169,370 7,570 161,800
OAIZ220H HAY 270,000 =174 270
OXAHX RLU(3E) 35,000,000& 12| 35,000
OAMI2RH E 200,000& *4 2| 800
ONMESHEE 0S4 Bas
1,650, 000& «2CH 3,300
OMY I =HE HAHX RUBE)
130,000, 000& = 1CH 130,000
SE HHY £ HA2(LX) 91,800 90,280 1,520
2 15,300
& 3,825
Al 72,675
301 et A= 91,800 90,280 1,520
= 15,300
& 3,825
Al 72,675
11 JIEtE2 A2 91,800 90,280 1,520
OsZ0HHlY =1 =2 15,300,000& 15,300
= 15,300
OsZHHY =1 &2 76,500,000 76,500
& 3,825
Al 72,675
SFRAMAD HMEAEAIS(EX) 114,266 129,000 N 14,734
= 80,000
& 11,400
Al 22,866
101 Q124 H| 89,658 102,960 N 13,302




SN B
M Hols2el
Cel: MEHIsHel (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 62,762
< 8,966
Al 17,930
04 JI2ZtHZ22HEE = 89,658 102,960 213,302
Oot=2 X DJ1=H XAt 89,658,000& 89,658
= 62,762
< 8,966
Al 17,930
201 €24l 18,600 19,605 A 1,005
= 12,738
= 1,792
Al 4,070
01 At 22l 18,600 19,605 A 1,005
O2E==EH| 18,600
o ot RAMEIlI=H MelAte 18,600,000 18,600
= 12,738
< 1,792
Al 4,070
206 M= Hl 6,008 6,435 AN427
= 4,500
< 642
Al 866
01 M= 4l 6,008 6,435 ANA427
OELESE 7¢ 6,008,000 6,008
= 4,500
< 642
Al 866
SMEME 29 1,137,269 726,174 411,095
101 @124 dl 48,032 46,271 1,761
4 JI2ZHHZ22XEES 48,032 46,271 1,761
028 4EXNIERI(SASHel &Z22d) 48,032
oJdlE2=a 1,036,000& x2H x12& 24,864
o403 1,036,000 »2H *400% 8,288
o EEFItdl 1,036,000& *2H x120% 2,487
o UG Al 130,000 »2H «12& 3,120
o AWR24Y
5,5703 x2H *18AI 2t + 128 x1.5 3,610
o HXtg 5,570 «BAl 2t+x2H « 15 1,337
o =83z 43,706,000& *4.5% 1,967
o 1EEHE 43,706,000& *1.4% 612
o MHHEH 43,706,000 x1% 438
HALEE 43,706,000& *2.9% 1,268
o BIIRYBE 1,221,000& *3.28% 41
201 Let24E] 283,815 243,715 40,100
01 At 2t 2l 13,815 11,115 2,700




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

SA - BB B () - MM - BES Ol &t o San HmEET
OPFEYT] 11,815
0 YPFA ARBETY 685,0008! 685
0 SASHRIANL PARHIBY 42
2,000,000& 2,000
o SASXelAIE MI|otM e )&
4,100,000& 4,100
o SASXelANE A2F 500,000 500
0 SASHIAL FHIAL FIIBMN 24
=3 2,000,000& 2,000
o SASHeAIE HIHAMN =2
1,600, 0002 1,600
0SAE SHHAE U HES FHAMN 24
=3 7,000& 108 S +43] 280
0 SASHAANE HABASH 42
650,000 650
O=&l 1,000
o BAE MEESYR X 1,000, 000& 1,000
On =l 1,000
o SASHEAE 22X HF=E L oM
100,000& 5% »23| 1,000
02 =224l 270,000 232,600 37,400
O=323LHA 227,400
oar-ERS 1,500& *1,000E *63l 9,000
o MIIR3 1403 130, 000Kwh* 12& 218,400
OAEZEHl S Xl 37,600,000& 37,600
OA =l 5,000,000& 5,000
206 M= Hl 72,016 66,000 6,016
01 =8l 72,016 66,000 6,016
OSASHAANE Yo, AS%E 7Y
10,000& 202l & *30& 6,000
OSAEXANE RAS =228 58 72 66,016
o xIlsE 60,0003 *0.2E *BA| 2t x244 A| 2t 23,424
o g5 220,000 0. 2E *BAl 2t 121 Al 2¢ 42,592
207 RO 137,206 91,913 45,293
03 A& & 22l 137,206 91,913 45,293
OSAEM2ANE EFHM 2
50,000& *50kg*6& 15,000
OSASHRIANE LY AB2Y
3,000,000& 3,000
OSAEHEANE BEHeE 4357 119,206
o =Zcli 39,348,000& 39,348
o AZH(2H) 29,858,000 29,858
o Jt&dACh 50,000,000 50,000
401 A& HIZ 201 I 465,000 200,000 265,000




2AM: 2F

M HOI=22e
Cel: MEHIsHel (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 A& bl 462,444 197,840 264,604
OSASHINE B2 (A >REA)
WS A 280,000,000& *99.28% 277,984
OSASH2ANE IMI| EFSA
20,000, 000& 20,000
O34 E HEEI Ex=3A 20,000, 000& 20,000
O&E4 Hed JAAZ2I(FLA) B3 A
50,000,000& %98.92% 49,460
O2H = EFE B3 A 35,000, 000& 35,000
OEEDTYA(E=T]) B3 A 15,000,000 15,000
OEIBISAIE E=D] E=3A 15,000, 000& 15,000
OS2 A3 A 30,000,000 30,000
03 Al =2 THHI 2,556 2,160 396
OSASHRAANE BASRI| (DAL >R HA])
WH S A 280,000,000& *0.72% 2,016
OEE4 H2AZ AN (|AA) E2BA
50,000,000& = 1.08% 540
402 RI2FXt20l ™ 65,200 17,800 47,400
02 2I2HCH & A S HI 65,200 17,800 47,400
OSAER HII=2 AS(FEH)
100,000 *30E » 15 45,000
OS4SR HIIS =X H™eldl
65,000& *40E *23] 5,200
O3a=E &&= 015 10,000& *50& 30 15,000
405 XHobF S HI 66,000 60,000 6,000
01 XL 2 ZFH S| 66,000 60,000 6,000
OSASXE HEEZ2 2L (1500t)
66,000,000 = 1CH 66,000
HE&E(ALE) 2Z 1,188,735 1,408,735 A 220,000
201 Let24d] 13,735 13,735 0
01 At 22l 8,900 8,900 0
OB =+=EH| 2,400
o BAWBE ZOIXNAHOIN LB N
200,000& *43| 800
o NEEZ MMEAE M2
100, 0003 *2J4 2 *83] 1,600
[ DN = 6,500
oANBEZ MHEANE E&=Xel Xt
6,500,000& 6,500
02 =224l 4,835 4,835 0
OS2 2=2 A A 1,835,000& 1,835
OA & EHl =Xl 3,000,000& 3,000
308 KXIEH S0l A 850,000 850,000 0




B SR (B) - KIRAY - BES Ol &t o San HmEET
07 IXNSHH AR S = 850,000 0
OZAMADIHYE L 42T 2923
850,000, 000& 850,000
401 Al HIZ 2018 5,000 0
01 A& HI 5,000 0
OMESZMHEE &+ MEX & 2 i
A 5,000,000 5,000
402 RIZ2EX20l M 320,000 540,000 A 220,000
01 It 2 AL E X 320,000 0 320,000
OZSMEH FEOS NA('15E FES) 320,000
o NSHSA 320,000, 000& 320,000
ST HEMY(EX) 9,892 0 9,892
= 3,000
Al 6,892
401 Al HI K 201 I 9,892 0 9,892
= 3,000
Al 6,892
01 A& HI 9,892 0 9,892
SSTGHEEE KNJAY 9,892,000 9,892
= 3,000
Al 6,892
AMSEEH OIS 2 1,042,512 618,512 424,000
= 504,000
Al 538,512
HOISAS &2t 24,945 32,945 A 8,000
201 L2l 12,042 11,042 1,000
01 At 22l 10,642 9,642 1,000
O E==EH| 5,842
o AHEHII=S HRFA 282,000 282
o N&E(HAH)UXHIIS M 760,000 760
o NE(HAH)SEXHIE L 100,000 100
o HIOISHES & LFZA(F - 0F2H)
40,000& *203l 800
o REIEE 2 FE+ M 20,000& x203| 400
oAMREE HIIZS HEE2EY 2,000,000 2,000
o ANHEHIIZ2 S YUY ¥ EXHIIS Mel
1,500, 000& 1,500
O= &l 1,000
o HJI=Z &= HRFA 1,000, 000& 1,000
o1 =l 800
o HIIEMEEIM =S (4 - 5t2)
50,0003 x4 X »23] 400




SN B
M Hols2el
Selr ASEHOI=S 22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
oHJISHEEIM SHE2(H=53)
100,000& x4 H 13 400
[ DR = 3,000
o HIIS=HE = &H Xt
3,000,000 3,000
03 &AL S HI 1,400 1,400 0
OHJIgHde gl NR(HAH )
7,000& 200 1,400
202 04l 903 903 0
01 S LHOIYI 903 903 0
OMSZHIIS2C HRFA 903,000 903
206 M= Hl 2,000 1,000 1,000
01 M= 4l 2,000 1,000 1,000
OASEEIIS =Z2AM IH=8 2
5,000& 2004 1,000
OLFEIHE ¢ 50,000& *204 1,000
307 21201 A 10,000 20,000 A 10,000
05 RIZt2IEt = 10,000 20,000 210,000
OMEE 2 XNE(HAH S)UXHIISHe
10,000, 000& 10,000
A& H I =S 2e 9,567 9,567 0
201 L2l 8,189 8,189 0
01 At 22l 6,175 6,175 0
O E=EH| 675
o d&LHIIEMaY St ¥ NEEFH FRF
& 675,000 675
O=&tl 1,500
0o HAEBIIS 2 0I5 L HAAD XX
1,500, 000& 1,500
[ DN = 4,000
o d&HIIE SHME = &HHl X
4,000,000& 4,000
02 2324l 2,014 2,014 0
OZZ=2=2 A A 2,014,000 2,014
202 Odl 1,378 1,378 0
01 = LH 4 Hi 1,378 1,378 0
OH&HIIS2e gRF2 1,378,000& 1,378
CSEHO0EMNAANG(BE) 1,008,000 576,000 432,000
= 504,000
Al 504,000
403 MtXISHH S0l & 1,008,000 576,000 432,000
= 504,000
Al 504,000




2AM: 283
J

X Hols2el
Selr ASEHOI=S 22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 S| 2SO0l CHEHCHE AH B 1,008,000 576,000 432,000
O 0IEXM2 XI& ALY 1,008,000,000& 1,008,000
= 504,000
Al 504,000
S 547,647 356,007 191,640
= 375,000
J| 27,000
< 20,500
Al 125,147
SIE2MAS 547,647 356,007 191,640
= 375,000
J| 27,000
< 20,500
Al 125,147
A EH ALY 46,647 51,647 A5,000
101 @124l 34,650 34,650 0
04 JI2ZtHZ22HEE = 34,650 34,650 0
OZEMEZHXZAIA 21248l 42,0003 «5H «60 12,600
ORdl OFMSE Toll 2Xc o2yl
42,0003 5 =105 22,050
201 £B-2dH| 3,997 3,997 0
01 At 22/l 2,547 2,547 0
oO2et=ZH| 2,547
o JI=H3 IS EE22 MH 547
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Olicldta=HelAld L ot& =Z2IAAMNE HE
) 2,500& *2007H 500
OEEAND SHEH 2 9,500
o SEZH HE(10004/8A)
100,000& =108+ A 1,000
o SEZH 0HE (20004/8A)
185,000& =108+ A 1,850
o FEHM =S (50M/8tA) 80,000& 58t A 400
0 SEZHM = (30Mx2I4/8tA) 90, 000& =54 450
o QL&A (XA50cm 2 0/20m)
550, 000& =21 1,100
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o HNEZ (LA, LHRE) 3,000&*200Z &l 600
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207 A OH Y| 20,000 0 20,000
01 A2E 49| 20,000 0 20,000
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Il 120,000
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Al 40,000
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Al 39,640
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OAZE SJAANY 80,000,000 *0.90% 720
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04 JIZHHZ2XNHEE S 27,414 14,135 13,279
O3 ZA SR2F2A 1,285,000 1100 & 14,135
Otd+=8 2489 |2l
85,000 *47,340m x0.0011*33] 13,279
201 L2l 12,763 12,763 0
01 At 22l 10,703 10,703 0
| DR R<iget=tu]l 2,603
o J=EER YR S sHA NEEZ 22l
JtE M 400& *2, 1650H 866

- 22 -




2M: 83
X ZH - PN
(=R B

= 2
Hel: ofdx=E2E 2a

SA - BB B () - MM - BES Ol &t o San HmEET
0 NEFEELTA HEEE P 1,737,000 1,737
O =8 |FA2el 22 5,000,000 5,000
O=gHt| 1,900
o LA HRFA 900,000 900
0 NEEBL ZAl, HEFX(0r2H, 5Y)
1,000,000& 1,000
01l =4l 1,200
o N=EELHEANE EHEE 222, HYs
gA= 5 7Y 240,000& 5% 1,200
02 =224l 2,060 2,060 0
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O HelAlE /E2 700,000,000& 700,000
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